2|

4_@
aji




the 2ol A MA Y HEO| Yol HA} ca--.
749 ABCD €] Holol 4 P, Q R HolE ) o=
Wl 27} 7}, o] ApAS o] gate] e 4
]
Qe BA FAS Zatal M Y
'.
‘I
b Q S

@ (a+b)? =ad?+ 2ab+ b?
@ (a-b)? = a® - 2ab + b>
® (a+b)(a-b)=a® - b?
@ (x+a)(x+b)=x>+(a+b)x+ab

® (ax+b)(cx+d) = acx* + (ad + bc)x + bd




1 1
(3a - fb) <3a +

2
O 3a® - -b?
@ 9a2 — —b?

1
6a* — —b*
® 6a 1



QHsfahe?

= =]
4. 2ax-—4day = TES

@© 2(ax - ay) @ 2a(x - 2ay) ® 2a(x-2y)

@ 4(x - 2ay) ® da(x-2y)



5.  4a® - 12ab + 9b* & A5E3| 5HH?
@ (2a+ b)(2a - 9b) @ (2a+ 3b)?
® (a+b)(4a—9b) @ (2a-3b)?

® (4a+ b)(a+9b)



6.

(

1
3x— =
X 4y

) (55 2y) 14wyl A



x% 4 2x—63 =0 9] = F35foi=t

E'HI-:X:

B =



T8 27101 ol A E A e B Eofek
)
Q y=2 © y=4x-2
® y=2x(x-1) @y:é
@y:%(x—ﬁ—l)(x—?,) ®y=(x+1)2-x2




ol

A

—_
1jo



10. o= F 9vlste Aol o

ru
_0|L
X
i

@© 9 o] AlE
@ AFL9

® AlFste 9 7t He=



a>0dd, \/(-2a) -

11.

a

@ -Ta ® -b5a

@ -1la



12. o= F 77t obd A2

@ 1.313131.. @ 3.123123412345...
®nr @ 0.2

® V2



13, x(x-1D)(x+2)(x=3) = x* + ax® + bx® + cx WA &5 a, b, ¢S] 3
a+b+co 27

@ -3 @ -1 ® 2 @ 3 ® 6






15.

2<a<29 Y, Va2 +4da+4- Va2 -da+4E

D a
@ a+3

@ 2a

® 2a+3

® 4



16. o= H7] 5 od4 2 +5x + 2 & 35 AFE
RE &g 7|2z Azt

Exl
@ ¥ +10x+25 O x2+4+3x-10
© 5x2-5 ® 2xy+y

@ 4x> +4x+1

5 J=X
=%
=

=%



17.

x(y—a)—y+a EHEA A5

@ (x+1)(y+a)

@ (x-1)(y-a)



18.



19. a>0, b>0 < o, A &2 A2?

® aVb = Va% @ —avb= -
a  a -
@[b_\/z @ va+ Vb<\aib

® a>bolH a> Vb



20.

33 _

2v3
b>0)

>|%

@

a6 °]il

3V10
5

~|%

=bV2 4, Vab ©] F22(F a >0,

“I%
ol%

® V6



21. The 2wt gol @ Wo| Aolrha 9 HAAGS ¥ HEo R L
ST, 0+RSa b LI ALY

P,

p R

~

~
~
\c.‘/

® a® - 2ab + 2b? @ a® - 2ab + b? ® a® - ab + b?

@ a® - 2ab ® a® + 2ab



22.

—~
w
=

— 2y +2)(5x + 2y - 2) & AAANA xy | yz, 2x 2] A2

©
!

m&v

@2 @10 @2 @3 040



® (a+b)

@ (b-a)

® 2a

® (2a-10)

@ (2a+b)



24. y=ax* o 27t g - il g 9
gy = 2m<a<n €W, m+n 9
29

1
@) -3 @ -1 ®0
1
— 1
@ 5 ®

y=—1’
y=ar



25. x, y>00°]2 3v2xx V3xx V6 =126, 2V7 x V6 x V3 x \/y = 84
1 _
o o, g = xy o] #s TatefEt

X

5 R
=%



